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arqd Po do Pi q;
A 2 20 15
B 4 4 5
C 1 10 12
D 5 5 10 6
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UYL (IEIE EEN SoLdRL | HSIHMLE | UYWL
MR 300 125 100 150 75
yAsHis | 190 181 118 140 101
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2016 40 45 42 49
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2019 50 55 48 47
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N, =30 Y,=6 S2=10 ny,=6
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N = 500, (A) = 100, (B)=200, (o,B)=180
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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.
(3) Statistical tables and graphs are supplied
on request.

1 (a) Write short note on Cost of living index number. 8

(b) From the following data find Fisher's, 12

Dorbish - Bowley's and Marshal - Edgeworth's Index
number :
Commodities Po o Py g
A 2 20 5 15
B 4 4 8 5
C 1 10 2 12
D 5 5 10 6
OR
1 (a) Explain Fisher's Index number. Prove that it satisfies 8
the time reversal and factor reversal tests.
(b) If4F=5L, Y p,q; =400 and Y pyq, =250, then find 6
Laspeyre's, Paasche's and Fisher's index number.

(0 For the given data find Index number. 6
Group Food Cloth Fuel Rent Miscellaneous
Weight 300 125 100 150 75
Index No. 190 181 118 140 101

2 (a) Explain components of time series. 8

(b) For the following data fit y=a+bx+cx2. .12

Year: | 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017
Profit: [ 10 12 18 15 13 16 14
OR
2 (a) Explain the method of moving average. 8
(b) Find Seasonal variations : 12
Year Q Q Q3 Q4
2016 40 45 42 49
2017 42 48 45 48
2018 45 50 44 42
2019 50 55 48 47
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3 (a) Explain the stratified random sampling method. 8
(b) 1, 3, 5, 7, 9 are the observations of a population. 7
Obtain all possible samples of size two without
replacement. Verify the following results :

— — N-n 2
M EF)=F @ V()=—
OR
3 (a) Explain the difference between census enumeration 8
and sample enumeration.
(b) From the following data find 1751 and V(?S[) 7
N =60 1 =8 $2 =12 n =12
N, =30 Y,=6 S2=10 ny =6
_ V. _ 2 _ _
N3 =10 =3 S?=45 ny=2
4 (a) What is Linear Programming ? State the uses of 8

Linear Programming.

(b) Maximize the objective function Z=4x+5y with
following constraints by using graphical method.
x+y<12, 2x+3y <30, x,y=20

OR
4 (a) What is Association of Attributes ? Explain its types. 8
(b) Find Yule's coefficient of association for the following 7

data :
N = 500, (A) = 100, (B)=200, (o.,B)=180
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